
OUTDOOR TRUCK LOGISTIC TERMINAL

DISPLAY (2X)

COMPUTER UNIT (2X)

POWER

SYSTEM

ENVIRONMENTAL CONDITIONS

CONFIGURATION

Storage Operating
Temperature −20°C to +60°C −15°C to +40°C
Rel. humidity 5% to 95%1 10% to 90%1

Ingress protection IP54
1 non-condensing

Front 2.8 mm tempered front glass with brightness sensor
Screen diagonal 19"
Aspect ratio 5:4
Surface hardness 7H
Surface Anti-Glare
Resolution 1920 x 1080 (Full HD)
Colours 16.7 million
Brightness 2500 cd/m²
Contrast 3000:1
Viewing angle 178°/178° (horizontal/vertical)
Cooling active

Processor Intel® Celeron™ G5900TE Comet Lake 2C/2T 3.0 GHz
Graphics Intel® HD graphics 620
Memory 1 x 4 GB DDR4 2666 MHz
Boot drive 1 x SSD M.2 128 GB
LAN 2 x Gigabit Ethernet
Interfaces 2 x USB 2.0

4 x USB 3.0
2 x LAN
2 x COM
1 x DisplayPort
1 x HDMI
1 x ATX button 
1 x DC-in
Audio

Power supply 100-240 V AC/DC active switching; 24 V DC output
Working power 24 V
Power consumption 50 W (Standby), 210 W (load)

Scanner 2 x Zebra MS4717
Heating Rittal SK 3105.380 | 800 W
Thermostat 2 x Rittal SK 3110.000 5 °C...60 °C
Air cooling system 8 x Rittal TopTherm Filter fan 20m³/h
Alarm system Siren with key switch (115 dB)
2 x intercom with loudspeaker, microphone and help button

Material Steel, powder-coated RAL 7016;
Aluminum, powder-coated RAL 9006; glass

Dimensions (WxDxH) 600 x 687 x 2321 mm (w/o base/foundation)
600 x 687 x 2938 mm (w base/foundation)

Weight Approx. 220 kg (system); approx. 20 kg (base/foundation)
Mounting Floor screwing

PACKAGING & INDIVIDUAL WEIGHTS

INTENDED USE
The device intended for customer interaction is an outdoor kiosk system 
consisting of a touch panel with an integrated PC and peripheral components. 
Additional components monitor and regulate the system‘s environmental and 
operating conditions.
The system is used in logistics and digital document capture. The touchscreen 
uses projective capacitive technology (PCT) to detect touches.

SAFETY NOTES
• Operation of this device or equipment may cause radio interference in a 

residential area (Class B).

Weight Dimensions (WxDxH)
System incl. pallet + cardboard box 265 kg
Cardboard box 30 kg 120 x 80 x 205 cm

POLYTOUCH®

Pyramid Computer GmbH | Bötzinger Straße 60 | D-79111 Freiburg  
 www. pyramid-computer.com  +49 761 4514 0  sales@pyramid.de

020625 | Datasheet_4010077033_POLYTOUCH_WS_Outdoor_Truck_Logistic_Terminal_EN | subject to change 

1/4

Pictures show sample configurations, real product may vary.



 2
93

8 

 600 

 H
öh

e 
So

ck
el

 =
   

  6
16

 
 H

öh
e 

A
ut

om
at

 =
 2

32
1 

 1
10

0 
 2

60
0 

 6
87

 
 4

36
 

 415 

 1
62

8 
 9

90
 

POS-NR. Navisionnummer MENGE Rev. Zeichnungsnummer Beschreibung MATERIAL

1 --- 1  PY-1014708 Boden AlMg3
2 --- 1 A PY-1014676 Korpus Schwarz Logistik AlMg3
3 --- 1  PY-1014220 Halter Korpus AlMg3
4 --- 1 PY-1014146 Halter Korpus AlMg3
5 --- 2  PY-1014148 Halter Korpus AlMg3
6 - 2  PY-1014675 Profil lang - Korpus AlMgSi1
7 --- 1  PY-1014163 Brücke AlMg3
8 4010077422 2 C PY-1006927 Halter Verriegelung AlMg3
9 --- 1  PY-1014671 Seitenteil Blende AlMg3
10 --- 1  PY-1014669 Seitenteil Blende AlMg3
11 4010077975 2 A PY-1009874 Fliegengitter unten Quadratmaschengewebe 1.4301
12 --- 2 PY-1014267 Klemmstück AlMg3
13 --- 1  PY-1014164 Deckel AlMg3

14 --- 1 PY-1014167 Dach Outdoor-Kiosk OBL-O-P-S AlMg3

15 4010077976 1 B PY-1009875 Fliegengitter oben breit Quadratmaschengewebe 1.4301
16 4010077977 1 B PY-1009876 Fliegengitter oben schmal Quadratmaschengewebe 1.4301
17 --- 1 PY-1014752 Klemmstück groß - Dach AlMg3
18 --- 1 PY-1014753 Klemmstück klein - Dach AlMg3
19 4010080219 1  PY-1014715 Distanzscheibe t=4mm 1.4301 (X5CrNi18-10)
20 --- 1  PY-1014692 Türarretierung 1.4301 (X5CrNi18-10)
21 --- 1  PY-1014693 Blech - Kabeldurchführung AlMg3
22 --- 1 A PY-1013561 Keystone Adapter 1.4301 (X5CrNi18-10)
23 --- 1  PY-1014174 Tragschiene gelocht - NS 35/ 7,5 Aluminium
24 --- 1  PY-1015847 Hitzeleitblech AlMg3
25 4010075051 1  PY-1009532 Grauer RS PRO Plattenkanal 45x45 L500 PVC Natur
26 --- 1  PY-1013030 Grauer RS PRO Plattenkanal 45x45 L150 PVC Natur
27 --- 1  PY-1014399 Halter PDU AlMg3
28 --- 1  PY-1014398 Halter PDU AlMg3

29 --- 1  PY-1014618 BG-Sockel
29.1 --- 1  PY-1014619 Bodenplatte - Sockel AlMg3
29.2 --- 1  PY-1014624 Deckelplatte - Sockel AlMg3
29.3 4010073166 4 A PY-1007794 Anschlagplatte AlMg3
29.4 --- 4  PY-1014623 Profil - Sockel AlMgSi1
29.5 --- 2  PY-1014627 Verkleidung vorne/hinten - Sockel AlMg3
29.6 --- 2  PY-1014630 Verkleidung seitlich - Sockel AlMg3
29.7 4010071175 24  PY-5002152 Nutenstein 10 M6 VA - 3842547812 1.4305 (X8CrNiS18-9)

29.8 24  PY-7000540 Sechskantschraube mit Gewinde bis Kopf 
ISO 4017 - M6 x 16 VA

29.9 8  PY-7000549 Sechskantmutter mit Flansch DIN 6923 - M8 VA
29.10 14  PY-7000551 Sechskantmutter mit Flansch DIN 6923 - M5 VA
29.11 4  7000285 Zylinderschraube mit Innensechskant DIN 

912 - M10 x 20 VA

30 --- 1  PY-1014633 BG Tür Schwarz Outdoor LKW/PKW
30.1 --- 1 A PY-1014662 Tür-Gerüst AlMg3
30.2 4010074405 3  PY-1008860 Schalterplatte AlMg3
30.3 4010076760 1 A PY-1012323 Halter Riemen AlMg3
30.4 4010076759 1 A PY-1011579 Klemmblech AlMg3
30.5 4010079135 1  PY-1013612 Türhaken 1.4301 (X5CrNi18-10)
30.6 4010079134 1  PY-1013597 Türhaken 1.4301 (X5CrNi18-10)
30.7 4010079133 1  PY-1013540 Gegenlager Tür 1.4301 (X5CrNi18-10)
30.8 --- 1 A PY-1009418 Deckel Tür 1.4301 (X5CrNi18-10)
30.9 --- 1  PY-1014744 Trägerblech oben AlMg3

30.10 --- 1  PY-1014742 Frontblende oben AlMg3
30.11 --- 1  PY-1014686 Boden Tür 1.4301 (X5CrNi18-10)
30.12 --- 2  PY-1014652 Profil für Tür AlMgSi1
30.13 --- 1  PY-1014656 Trägerblech unten AlMg3
30.14 --- 1  PY-1014659 Frontblende unten AlMg3

30.15 2  PY-5002014
Kabelschlauchhalter

Innendrm 29mm
Rittal 2591000

Artikelnr.: SZ 2591.000

30.16 4010074419 22  PY-5001165
Dichtscheibe Edelstahl A2 blank

SHB-EPDM3-A2-D19MM-(F.SHR6,3-6,5) Art.-
Nr.020119 

1.4301 (X5CrNi18-10)

30.17 4010079955 3  PY-5002183 Abstandsbolzen Sechsk. I/I Gew. SW5,5 
M3x55 Messing vernickelt

30.18 4010071599 4  5000591
Gewindeadapter M12
Artikel-Nr.: 060000612 

EN AW-2007
EN AW-2007 (3.1645)

30.19 2  5000394 Scanner Zebra 4717  
30.20 4010072466 1  PY-5002277 GN 2180 Kantenschutz-Dichtprofil

GN 2180-EPDM-20,5-A-50 EPDM EPDM

30.21 2  PY-5001269
ITW Switches 48M Druckschalter beleuchtet

https://de.rs-
online.com/web/p/drucktaster-schalter/17

38575
1.4301 (X5CrNi18-10)

30.22 2  PY-5001339 Elektronik lokal (SIP), Größe 2
Best.-Nr.: 20-0016 / 20-0016-IP AlMg3

30.23 2  PY-5001340 20-9204 Einbau-Mikrofon AlMg3

30.24 2  PY-5001341 43-9202 Lautsprecher, Größe 3 (bei IP-
Elektronik) AlMg3

30.25 4010071175 26  PY-5002152 Nutenstein 10 M6 VA - 3842547812 1.4305 (X8CrNiS18-9)

30.26 2  PY-5002157 Neue 19"  Screendaten 18.12.2023 VA

30.27 --- 1  PY-1014688 Edelstahl-Rastbolzen mit rotem Knopf, Form 
BK ohne Rastsperre VA

30.28 4  7000037 Scheibe DIN 125 - A 6.4 VA
30.29 - 7  PY-7000495 Zylinderschraube mit Innensechskant DIN 

912 - M6 x 16 - VA VA

30.30 3  PY-7000333 Senkschraube ISO 7046-1 - M3 x 6 VA
30.31 4010069309 82  PY-5002154 6kt-Mutter mit Flansch 6926/A2 M3 

selbstsichernd VA
30.32 4  PY-7000548 Sechskantmutter mit Flansch DIN 6923 - M6 VA
30.33  6  PY-7000570 Scheibe DIN 125 - B 6.4 - VA VA
30.34 42  PY-7000551 Sechskantmutter mit Flansch DIN 6923 - M5 VA
30.35 28  PY-7000540 Sechskantschraube mit Gewinde bis Kopf 

ISO 4017 - M6 x 16
31 --- 1  PY-1016010 Halter Gasdruckfeder (Tür 19") Blechteil

31.1 --- 1  PY-1016011 Halter Gasdruckfeder (Tür 19") 1.4301 (X5CrNi18-10)
31.2 --- 1  KVT FHS-M5-15 KVT FHS-M5-15 Nichtrostender Stahl 18/8 (AISI 300)
32 4010081109 2  PY-5002354 Distanzhülse Stahl rostfrei blank Ø5,4/8,0x6,0

Artikel-Nr.: 007.67.069 1.4305 (X8CrNiS18-9)
33 2  PY-7000551 Sechskantmutter mit Flansch DIN 6923 - M5 VA
34 --- 1  PY-1016013 Halter Gasdruckfeder (Korpus 19") Blechteil

34.1 --- 1  PY-1016014 Halter Gasdruckfeder (Korpus 19") 1.4301 (X5CrNi18-10)
34.2 --- 1  KVT FHS-M5-15 KVT FHS-M5-15 Nichtrostender Stahl 18/8 (AISI 300)
35 1  PY-5002351 Gasdruckfeder LIFT-O-MAT DD 03 01 0613 13 

202
35.1 1  PY-5002370 Material <nicht festgelegt>
35.2 1  PY-5002369 Material <nicht festgelegt>
36 4010076760 1 A PY-1012323 Halter Riemen AlMg3
37 4010076759 1 A PY-1011579 Klemmblech AlMg3
38 4010079928 1  PY-1014583 Riemen Türanschlag PUR

39 --- 1  PY-1014282 BG Montageblech Elektronik  

39.1 --- 1 A PY-1014172 Montageblech Elektronik AlMg3
39.2 --- 1  PY-1013029 Grauer RS PRO Plattenkanal 45x45 L1300 PVC Natur
39.3 --- 2  PY-1013030 Grauer RS PRO Plattenkanal 45x45 L150 PVC Natur
39.4 --- 2  PY-1014175 Tragschiene gelocht - NS 35/ 7,5 Aluminium
39.5 --- 1  PY-1013800 Grauer RS PRO Plattenkanal 45x45 L100 PVC Natur

39.6 1  PY-5002336
PHIHONG 

Switching Power Supply
Model POE29U-1AT(PL)

IEEE802.3 
PVC hart

39.7 1  PY-5002335 Temperatur-/Luftfeuchte-Sensor GUDE 7205 
mit RJ45-Buchse PVC hart

39.8 4010060484 8  PY-5001220

WAGO
3-Leiter Durchgangsklemme 2,5mm2

für Tragschiene/Hutschiene 35x15/35x7,5
Push-in CAGE CLAMP

39.9 1  PY-5000723 IPC Flex Mini - Gehäuse  

39.10 4010063109 1  PY-5000787
RGB Sedu Box 

RAL 9005
Kompletter Aufbau

 

39.11 4010073263 1  PY-5001234 RITTAL Thermostat Schaltschr. SK 3110.000  

39.12 4010076670 1  PY-5001835
Verbindungsdose

Abox SL-2,5/4²
Artikelnummer: 80680701

PVC, weiß (gem. UL94 HB)

39.13 1  PY-5002014
Kabelschlauchhalter

Innendrm 29mm
Rittal 2591000

Artikelnr.: SZ 2591.000

39.14 4010074650 1  PY-5001233
Balluff BAE0114 480W 24V AC/DC

Netzteil
 

39.15 4010064121 1  PY-5001146 Moflash AE35M Elektronischer Signalgeber  

39.16 4010075869 1  PY-5001657
RS PRO Trennschalter 3-polig 32A DIN-

Schiene Rot IP 65 11kW 690V ac 3-phasig

RS Best.-Nr.:    466-172
PVC, weiß (gem. UL94 HB)

40 --- 1  BG Montageblech 2 Elektrik  

40.1 --- 1  PY-1015379 Montageblech 2 Elektronik AlMg3

40.2 4010075051 1  PY-1009532 Grauer RS PRO Plattenkanal 45x45 L500 PVC Natur

40.3 1  PY-5000723 IPC Flex Mini - Gehäuse  

40.4 1  PY-5002014
Kabelschlauchhalter

Innendrm 29mm
Rittal 2591000

Artikelnr.: SZ 2591.000
40.5 --- 1  PY-1013030 Grauer RS PRO Plattenkanal 45x45 L150 PVC Natur
40.6 --- 1  PY-1014175 Tragschiene gelocht - NS 35/ 7,5 Aluminium

40.7 4010060484 5  PY-5001220

WAGO
3-Leiter Durchgangsklemme 2,5mm2

für Tragschiene/Hutschiene 35x15/35x7,5
Push-in CAGE CLAMP

40.8 1  PY-5002336
PHIHONG 

Switching Power Supply
Model POE29U-1AT(PL)

IEEE802.3 
PVC hart

41 --- 1  PY-1015385 Dichtungssatz Schwarz LKW/PKW

41.1 --- 1 B PY-1009525 Gummimatte EPDM A-KF 25-00 schwarz
41.2 --- 1  PY-1014918 Dichtung - unten Sockel EPDM A-KF 25-00 schwarz
41.3 --- 1  PY-1014887 Dichtung - unten innen EPDM A-KF 25-00 schwarz
41.4 --- 1  PY-1014658 Dichtung - Frontblende unten EPDM A-KF 25-00 schwarz
41.5 --- 1  PY-1014746 Dichtung - Frontblende oben EPDM A-KF 25-00 schwarz
41.6 --- 1  PY-1004919 Dichtung - Tür komplett EPDM A-KF 25-00 schwarz
41.7 --- 2  PY-1015814 Dichtung lang - Klimaanlage/Rückwand EPDM A-KF 25-00 schwarz
41.8 --- 2  PY-1015764 Dichtung kurz - Klimaanlage/Rückwand EPDM A-KF 25-00 schwarz
42 --- 1  PY-1013723 BG Drehriegel

42.1 4010078774 1  PY-1013541 Schließriegel 1.4301 (X5CrNi18-10)
42.2 4010078776 1  PY-5002170 3-Punkt Zungenadapter 207-9590.00-00000 1.4301 (X5CrNi18-10)

42.3 4010078777 2  PY-5002168
Rundstange mit Auge und angekegeltem 

Ende
201-0111.04-L800

1.4301 (X5CrNi18-10)

42.4 4010071368 2  PY-5000826 Stangenführungen RS
200-3625.51-00000 PA schwarz

42.5 4010072593 1  PY-5000827 Erdungsfeder Edelstahl
208-1206.93-00000 1.4310 (X10CrNi18-8)

42.6 4010078010 1  PY-5002028  7-065 Schwenkhebel RS PrC Edelstahl
207-9295.00-00000 1.4301 (X5CrNi18-10)

42.7 4010078775 1  PY-1013526 Unerlage Verriegelung 1.4301 (X5CrNi18-10)

43 4010076835 10  PY-5001893
Distanzhülse Ø6,4xØ11x10

Messing / Wandstärke 2,3 mm
Artikel-Nr.: 005.56.103 

Messing

44 4010075766 36  PY-5001418
Dichtscheibe Edelstahl A2 blank

SHB-EPDM2-A2-D16MM-F.SHR4,2 Art.-
Nr.020116242 

1.4301 (X5CrNi18-10)

45 4010074419 6  PY-5001165
Dichtscheibe Edelstahl A2 blank

SHB-EPDM3-A2-D19MM-(F.SHR6,3-6,5) Art.-
Nr.020119 

1.4301 (X5CrNi18-10)

46 4010071599 2  5000591
Gewindeadapter M12
Artikel-Nr.: 060000612 

EN AW-2007
EN AW-2007 (3.1645)

47 4010072461 8  5000540 Gummidichtung 1x10 selbstklebend NBR

48 1  PY-5002034
TecLines TKM015 Keystone Modul LAN CAT 

7 RJ45 Buchse/Buchse
AN:  05627199 

1.4301 (X5CrNi18-10)

49 1  PY-5001543 12-fach switched und metered PDU  

50 4010074418 1  PY-5001164
Lorlin Schlüsselschalter 2-Positionen, 1-

poliger Umschalter, 5 A @ 115 V ac IP66, 
IP67

Verzinkter Stahl

51 4010074417 1  PY-5001163
Anbau-Kabelstutzen 

ASS 12
https://www.hensel-electric.de/de-

de/produkt/24114/ASS-12
PVC hart

52 4010071371 2  5000584 IGUS Gleitlager
GLWFM_0810_09  

53 4010079278 4  PY-5002184
Abstandsbolzen  I/I SW8x23 Gewinde M4x9 

beidseitig
II-MS-4-7-23

Messing vernickelt

54 4010064424 2  PY-5001151 OMRON Schalthebel Schalter Z-15GW2-B  

55 4010079282 18 PY-5002155
Abstandsbolzen I/I SW7x38 Gewinde M4x9  

 
Ersetzt: 4010075767

Messing vernickelt

56 4010075640 4  PY-5001227
Anbau-Kabelstutzen 

ASS 25
https://www.hensel-electric.de/de-

de/produkt/24118/ASS-25
PVC hart

57 4010078159 4  PY-5002338
Kabelverschraubung - Icotek KVT 25 gy

Artikel: 45035
www.icotek.com

Polycarbonat

58 4010071175 44  PY-5002152 Nutenstein 10 M6 VA
3842547812 1.4305 (X8CrNiS18-9)

59 1  PY-5001210 Schaltschrank-Heizung mit Lüfter
Artikel-Nummer: SK 3105.400  

60 1  PY-5002296
230v Lüfter

Felix: dann können wir direkt das thermostat 
von der heizung mitverwenden

61 35  PY-7000462 Sechskantschraube mit Gewinde bis Kopf 
ISO 4017 - M4 x 12 VA

62 16  PY-7000535 Sechskantschraube mit Gewinde bis Kopf 
ISO 4017 - M6 x 12 VA

63 50  PY-7000540 Sechskantschraube mit Gewinde bis Kopf 
ISO 4017 - M6 x 16 VA

64 6  PY-7000527 Sechskantschraube mit Gewinde bis Kopf 
ISO 4017 - M6 x 20

65 74  PY-7000548 Sechskantmutter mit Flansch DIN 6923 - M6 VA

66  12  PY-7000557 Sechskantmutter mit Flansch DIN 6923 - M4 VA

67 4  PY-7000562 Senkschraube mit Innensechskant DIN 7991 
- M4 x 8

68  6  PY-7000570 Scheibe DIN 125 - B 6.4 - VA VA

69 2  PY-7000419 Zylinderstift ISO 8733 - 8 x 32

70 --- 1  PY-1015852 Frontblende unten VA 1.4301 (X5CrNi18-10)
71 --- 1  PY-1015850 Frontblende oben VA 1.4301 (X5CrNi18-10)
72 --- 1  PY-1014673 Rückwand AlMg3
73 --- 3  PY-1015763 Verstärkungsleiste - Klima AlMg3
74 1  PY-5001183 Klimaanlage  

75 1  PY-5001199 Rahmen für Klimaanlage PY-5001183  

76 --- 1  PY-1015896 Rückwand 
76.1 --- 1  PY-1015895 Rückwand AlMg3
76.2 --- 4  KVT FHS-M4-8 KVT FHS-M4-8 Nichtrostender Stahl 18/8 (AISI 300)
76.3 --- 7 KVT FHS-M6-15 KVT FHS-M6-15 Nichtrostender Stahl 18/8 (AISI 300)
76.4 --- 48  KVT FHS-M4-12 KVT FHS-M4-12 Nichtrostender Stahl 18/8 (AISI 300)
77 --- 4  PY-1013201 BG Lüftereinheit Standard

77.1 --- 1  PY-1013202 Lüfterbox 1.4301 (X5CrNi18-10)
77.2 --- 1 A PY-1010424 Gummimatte EPDM A-KF 25-00 schwarz
77.3 --- 1  PY-1013203 Drahtgewebe Drahtgewebe 1.4301 (X5CrNi18-10) 

(2)
77.4 --- 1  PY-1013204 Halter Filtermatten AlMg3
77.5 --- 1  PY-1013821 Tragschiene gelocht - NS 35/ 7,5 Aluminium
77.6 4010075870 2 PY-5001209 SK 3237.124 - TopTherm Filterlüfter 24V Material <nicht festgelegt>
77.7 4010060484 2  PY-5001220

WAGO
3-Leiter Durchgangsklemme 2,5mm2

für Tragschiene/Hutschiene 35x15/35x7,5
Push-in CAGE CLAMP77.8 --- 2  PY-1010429 Abdeckung Rittal-Lüfter AlMg3

21 3 4

21 3 4

F

E

D

C

B

A

F

E

D

C

B

A

W
ei

te
rg

ab
e 

so
w

ie
 V

er
vi

el
fä

lti
gu

ng
 d

ie
se

s 
D

ok
um

en
ts

, V
er

w
er

tu
ng

 u
nd

 M
itt

ei
lu

ng
 s

ei
ne

s 
In

ha
lts

 s
in

d 
ve

rb
ot

en
, s

ow
ei

t n
ic

ht
 a

us
dr

üc
kl

ic
h 

ge
st

at
te

t.
Zu

w
id

er
ha

nd
lu

ng
en

 v
er

pf
lic

ht
en

 z
u 

Sc
ha

de
ne

rs
at

z.
 A

lle
 R

ec
ht

e 
fü

r d
en

 F
al

l d
er

 P
at

en
t-,

 G
eb

ra
uc

hs
m

us
te

r- 
od

er
 G

es
ch

m
ac

ks
m

us
te

re
in

tra
gu

ng
 v

or
be

ha
lte

n

Rev

Artikelnummer: Allgemein-
toleranzen

DIN ISO 2768-mK

Änderung Datum Name
   

 
 
 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 

Erstellt
Datum

03.07.2024
 

Name
F.Moser

Z

Freigegeben

PY-1014617

Maßstab Format

Zeichnungsnnummer:

Benennung:

Blatt / von

Material:

Status
/

Gewicht (kg):
328

FEHLER!:Material 1:20 A4

1 1

11.10.2024  Freig.

Schutzvermerk ISO 16016 beachten

POLYTOUCH Terminal Variante 
IBL-O-S2 (LKW Terminal)

4010077033

www.pyramid.de

DIN ISO - 5456-2

 

 17,5 (8x Befestigungsbohrung für Betonanker) 

 0
 

 6
7,

5 

 5
32

,5
 

 6
00

 

 0 

 67,5 

 362,5 

 430 

 215 

 3
00

 

Zeichnung für Montagebohrungen

1

F

8765432

1 8765432

A

B

C

D

E

F

A

B

C

D

E

W
ei

te
rg

ab
e 

so
w

ie
 V

er
vi

el
fä

lti
gu

ng
 d

ie
se

s 
D

ok
um

en
ts

, V
er

w
er

tu
ng

 u
nd

 M
itt

ei
lu

ng
 s

ei
ne

s 
In

ha
lts

 s
in

d 
ve

rb
ot

en
, s

ow
ei

t n
ic

ht
 a

us
dr

üc
kl

ic
h 

ge
st

at
te

t.
Zu

w
id

er
ha

nd
lu

ng
en

 v
er

pf
lic

ht
en

 z
u 

Sc
ha

de
ne

rs
at

z.
 A

lle
 R

ec
ht

e 
fü

r d
en

 F
al

l d
er

 P
at

en
t-,

 G
eb

ra
uc

hs
m

us
te

r- 
od

er
 G

es
ch

m
ac

ks
m

us
te

re
in

tra
gu

ng
 v

or
be

ha
lte

n

 

Rev

Artikelnummer: Allgemein-
toleranzen

DIN ISO 2768-mK

Änderung Datum Name
B Bolzen M5 in M6 geändert / +4 Befestigungsbohrungen 04.12.2024 fmo

 
 
 
 
 
 
A

 
 
 
 
 
 
Zeichnung ergänzt

 
 
 
 
 
 

18.11.2024

 
 
 
 
 
 
Z

Erstellt
Datum

16.05.2024
 

Name
Z

PE

Freigegeben

PY-1014619

Maßstab Format

Zeichnungsnnummer:

Benennung:

Blatt / von

Material:

Status
/

Gewicht (kg):
4.99

AlMg3 1:3 A3

3 3

29.01.2025  Freig.

Schutzvermerk ISO 16016 beachten

Bodenplatte - Sockel

---

www.pyramid.de

DIN ISO - 5456-2

POLYTOUCH®

Pyramid Computer GmbH | Bötzinger Straße 60 | D-79111 Freiburg  
 www. pyramid-computer.com  +49 761 4514 0  sales@pyramid.de

020625 | Datasheet_4010077033_POLYTOUCH_WS_Outdoor_Truck_Logistic_Terminal_EN | subject to change 

2/4

DIMENSIONS Pictures show sample configurations, real product may vary.



POLYTOUCH®

Pyramid Computer GmbH | Bötzinger Straße 60 | D-79111 Freiburg  
 www. pyramid-computer.com  +49 761 4514 0  sales@pyramid.de

020625 | Datasheet_4010077033_POLYTOUCH_WS_Outdoor_Truck_Logistic_Terminal_EN | subject to change 

3/4

ENVIRONMENTAL CONDITIONS CRITERION FOR EUROPE

ENVIRONMENTAL CONDITIONS
Temperature range Indoor: 10 to +30°C  

Outdoor: -15°C to +40°C 
Humidity 10% to 90% RH
Air pressure > 800 hPa (< 2000 m altitude)
Maximum exposure to sunlight 1090 W/m² at 40°C according to EN60068-2-5 (test for temperature and solar radiation influences)
Air quality The installation location should provide a clean and well-ventilated environment to minimize the accumulation of dirt and dust. 

High humidity or severe air pollution should be avoided.
PM10 < 50 µg/m³ (annual average)
PM2.5 < 25 µg/m³ (annual average)

Corrosion class The corrosivity class describes the resistance of the coating. The installation location should be chosen so that the corrosivity 
class C4 according to DIN EN ISO 12944 is taken into account in order to ensure sufficient protection against moderate 
corrosion. In coastal regions, this class is sufficient as long as the salt content in the air is below 0.3 mg/m³.

Protection type (IP protection class) In order not to exceed the IP54 protection, the location should be chosen so that strong jets of water or  
dusty environments are avoided.

ROOM CONDITIONS
Ventilation/Cooling Good air circulation required, passive cooling through openings.
Space requirements At least 1m² for the kiosk and additional space for maintenance. 

front > 60 cm
back > 20 cm
right > 20 cm
left > 20 cm

Access Easy access for maintenance.

POWER SUPPLY
Availability of the power source 230 V AC power source; 16 A
Safety precautions It is necessary to install a residual current device (RCD) with 30 mA in accordance with DIN VDE 0100-410 and a circuit breaker 

(LS) in accordance with DIN VDE 0100-430. In addition, a surge protection device (SPD) in accordance with DIN VDE 0100-443 
must be installed and the earthing and potential equalization must be carried out in accordance with DIN VDE 0100-540.  
The insulation requirements must be met in accordance with DIN EN 60664-1 (VDE 0110-1).

Cable routing Use of weatherproof cables (e.g. H07RN-F, 3 x 1.5 mm) for outdoor use.
Plug/coupling Use of CEE couplings (e.g. CEE 16A IP44) for safe connection and disconnection outdoors.
Cable protection Cables should be protected from mechanical damage, moisture and extreme temperatures.  

All pre-installed plugs must be packed completely water and dust-tight until the kiosk is installed.
Grounding / PE It is necessary to connect the kiosk's earthing to the protective earth (PE) to ensure electrical safety.  

The earthing of the kiosk must be ensured in accordance with the applicable regulations.

NETWORK CONNECTION
Ethernet cable laying Use of weatherproof cables (e.g. Dätwyler CU 7002 4P PUR) for outdoor use.
Plug recommendation Pre-assembled RJ45 connectors suitable for outdoor use.
Cable protection Cables should be protected from mechanical damage, moisture and extreme temperatures.
Availability of a router/switch If a wired connection is required, a router/switch must be within range of the kiosk or a WiFi connection must be available.
Mobile connection (3G/5G) The installation location should ensure good mobile phone coverage for the use of a 3G/5G router.  

Minimization of interference and maximum signal strength required.
Cable protection Cables should be protected from mechanical damage, moisture and extreme temperatures.  

All pre-installed connectors must be packed completely water and dust-tight until the kiosk is installed.

VIBRATIONS AND MECHANICAL STRESS
Mechanical stress The location must be stable and subject to low vibration.  

The base must meet the technical requirements according to the installation and safety manual.



POLYTOUCH®

Pyramid Computer GmbH | Bötzinger Straße 60 | D-79111 Freiburg  
 www. pyramid-computer.com  +49 761 4514 0  sales@pyramid.de

020625 | Datasheet_4010077033_POLYTOUCH_WS_Outdoor_Truck_Logistic_Terminal_EN | subject to change 

4/4

ACCESSIBILITY AND SAFETY
Access control Ensuring that only authorized and trained personnel have access to the device key.

ZONE REQUIREMENTS
Distance from flammable materials Minimum distance of 50 cm from flammable materials.
Explosion protection (ATEX) Not suitable for Zone 2 or higher risk areas (e.g. near gas cylinders).

STANDARDS AND REGULATIONS
Compliance with regulations Compliance with national electrical installation standards, IEC, EN60068-2-xx and local building and  

environmental regulations is required.

MOUNTING
Installation Only trained personnel may carry out the installation to avoid errors and ensure safety.  

The specifications of the Pyramid installation and safety manual must be followed.
Electrical installation using CEE coupling 
(standard)

When using CEE couplings, no electrical installation by an electrician is required.

Electrical installation using direct wiring 
(alternative connection option)

When wiring directly to active or passive components, the installation must be carried out by an authorized electrician. 
Acceptance by qualified specialists is required to ensure compliance with safety precautions,  
relevant regulations and functional requirements.

Acceptance according to local regulations Acceptance must be carried out in accordance with applicable local regulations in order to meet legal requirements  
and safety standards.

ENVIRONMENTAL CONDITIONS CRITERION FOR EUROPE


